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FIFTHSEMESTER
CIVIL/CTM
SCHEME JULY 2008
TRUCTURAL DESIGN & DRAFTING. 1(RCC) (505)

Tme : Three Hours - Maximum Marks : 100

fote : (1) Attempt total six questions. Question No. |
(Objective type) and Question No. 2
(Drawing) is compulsory. From the remaining
questions attempt any four.
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(ii) Assume any missing data suitably.

TR T TR R IRE 59 F 7 A

(ii) In case of any doubt or dispute, the English
version question should be treated as final.
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(iv) Use of IS Code 456-2000 is allowed.
3T TH.FR 456-2000 H1 39401 RRAT A1 TRl
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1. Choose the correct answer. 2 each (aq) 25? :q\-/a'f wA. (31) 400 Q./&Tz IR ]
T TR | T R (Y413 mA. (3) 500 = /A fra,

iv) Stirrups are designed in beams for -

1) W.S.M.means: (a) Bending stress (b) Deflection

(a) Working Safe Method

(¢) Shear stress (d) Noneofa,b, ¢
(b) Working Strength Method o () 3 Rerow Reméa P 3 4 frw Rl 7
(c) Working Security Method 3
(d) Working Stress Method : {¥) 3% 2 rgpvonline.com
o, .08, 0 - (3) g (Rowrera)
(=) afshm A% Jue (7) afdn gu Auz (®) e a0
(@) afdm JagRet Aue (g9 Rk B Ay (3) &, 9, 9§+ f &
ii) The minimum of bars in square column v) Thespacing of main tensile reinforcement shoulq
{Longitudinal reinforcement) should not be less be
than: (a) 3xdia of bar or 300 mm which ever is less
(a) 04 (four) (b) 05 (five) (b) 5xdia of bar or 450 mm which ever is less
(c) 06 (six) ' (d) 08 (eight) (c) 3xdia of bar or 450 mm which ever is less
. . 8 . (d) Sxdia of bar or 600 mm which ever is less
THR AR w9 F (3 geem/Rawraiz) e ~
3 A AP e T RAwrade St gd R 9 )
B3 R a]i%a
A B o , ! o(3) 3xaR = =g @ 300 HLA. A oft w7 A
()04 (=) (T) 05 (ur=)

(F) Sxam =1 2 @ 450 Bd. S o F9 @

(7) 06 (3:) (2) 08 (am) (W) 3xaR T =@ a1 450 FrA. 5 off w9 A

iii) The characteristic yield strength of Fe415 is (Z) 5xar =1 =" =@ 600 .. Y R =9 A

(a) 250 N/mm? (b) 400 N/mm? Ny _ PTO

(C—) 415 N/mm? ( d) 500 N/mm?> “ rgpvonline.com nhe
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2. Draw a beam with R_F. = 1/50 by following details.

a)
b)
¢)
d)
¢)

£

Over all length 6.0 m (simply supported)
Bearing 300 mm (both end)

Width of Beam 300 mm

Depth of Beam 550 mm

Main bars 5 Nos. 16mm dia, 2 nos. bentup at 45°
both end the bentup from 1.5m both ends

8mm dia two legged stirrups are provided
@ 100mm c/c both ends up to 1.5 m from
each end and is remaining 3.0 m middle span
@ 200mm c/c.

Draw 1)

ii) One cross-section nearer toend 4

L-section 10

ii1) One cross-section mid span 4

o @ dROE. = 1/50 F A Rrawongar @
w) A G A 6.0 % (Rwh W)
Q) darm 300 R (G R W)

q) W & FRE 300 ®A.
7) & A TuEAEE S50 A,
%) 5 =R 16 WA, 2| e ar, A T
W 45°¢ gFE B A 1.50 @ g8 A
S/2014/6184 Contd.....
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F2 A B W BRA 1.5 9. T9F 2F WE gl
304, 587 § 200 WAL F QA F= =R

i)  Ud-HaeH

i) T Fe RE R P o

i) UF ®r &3 9 &
Or (*ar'")
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Draw a plan and sectional Elevation of column
and footing with showing reinforcement detail in

R.F. 1/50 details to draw.

a)
b)

c)

10+8
Depth of column and footing 2.00 m from G.L.
Height of column above GL. 1.50 m

Size of column 400 mm *x 400 mm

Size of footing 1.80 m x 1.80 m

Height of flat concrete 450 mm

Height of tapered concrete 700mm

Assume reinforcement - main bar, rings and
footing bars.

T Fed a Pl & ARIE. 1/50 4 g4 g0
Reawrgie (vier aeft wehR) 29l 9 3 fawo-

#) 9 g ¥ FEH e F TEE 2.00 7.
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q) a4 9ag U FEE S Harg 1.50 1.

)

Fal|

)
3)
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)

3 a)

b)
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HeT™ & A9 400 By.A. x 400 W
HesT 1 A 1.80 F. % 1.80 Ht.

Fihic N TIE TIE H a1 450 B
Fishle o b $EF FEir S5 700 B,
e & [dau &g g6 B3, Sodll a9l HiE B2 @
oA (TEE) @)

Design a column with following data: 9

Factored Load = 3000 KN, concrete used M20,
Fe 415

Steel and unsupported length=4.0 m

T &N Fl FwhedA S WY S
onifehd R = 3000 6.7, SiwE & F@m M20,
W Fe 415 3*3ieRiees warg = 4.0 .

Design shear reinforcement for a beam has a span
6m. Total load on beam 30 KN/m including self
weight of beam Tensile reinforcement of 6 bars
of 16émm dia is provided. The beam
300mmx750mm provide. Use L.S.M., M20 and
Fe 415. [simply supported beam] 9
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M T TR0 Ao AR B wg e
641 &, T R 30 Re./—L A, o7 F = ¥ s
qfea a= vaee 16fir.=ﬁ.mma§°rﬁa%mn§
8, U & R 300 AR <7500 2 g Rt
&1 M20 7 Fe 415 & WY IgI |

Explain Overhanging Beam. 4
Tt FE A (o) @ BEE IR
Explain Doubly Reinforced Beam. 4

ﬁmﬁam(mﬁm%aw)a&mml

Design a simply supported beam subjected to a
UDL of 18 KN/m excluding self weight over

the span of 7.50 M. Use M25 concrete and steel
Fe 415 use LSM. 10

Wmﬁamﬁaammmls%.qﬁ.m
7.50&.@@1%,:«&%@:%@%

M25 Fihte T Fe 415 # swirm frar sndmm)
Rerfy Rty a1 swamy

Explain Earth Quake Zones.
I @ () A wmEmE)

rgpvonline.com 4



b)

b)

S/2014/6184

(8)

rgpvonline.com

State the assumptions in Limit state method of

R.C.C. Design. 4
I TR & g Red @iy § qreanst
& qdIzu|

Calculate the moment of resistance of a SS Beam
size 250mm»>400mm effective, reinforced with
5 bars of 16mm diameter at bottom and 2 bars
of 12mm diameter at top. Concrete used M20
and stee! MS grade 1. Take cover as 25 mm and

use working stress method. 10
UF A Aenad w79 Rrae " 250 B
x400 Ty A1, gt ¥ e 16 f. @ &t 9"
g i @1 AR qu 12 Bl am 2 88 W
F AR vatea 2 Hiwle M20 dUl 39| UH.OE.
Fe-1 @1 Sygm TR e B 25 Rl & w9 0 &R

A W AR FRE ofcaa il @ Iwm A

Give the advantages of T Beam. 6
& U= (dm) & @9 99l

Find the moment of resistance of a T beam with
the following data:

D, = 125mm, b, = 1100mm, b = 350mm,
d = 450mm, Ast = 2700 min’, f, =500 N/mm?
concrete M25 used. 12
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T & we Rk e B 2, @ e amgof
S

D, = 1254, b, = 1100f.41., b_= 350 fa.o.,
d=450 A, Ast=2700 af .oy, £ =500 N/mm?
Hishte M25 &1 I94R =)

Design a simply supported slab for a Room
3mx9m the thickness of supporting wall is
300mm, concrete M20, steel Fe 415, use..S.M.

12

Tk 90 3 ALx9 1. & ol gm oreifiad =g
TR HIl SR A Aerd 300 Ll M20
HihIE T W Fe 415 a1 Iqan &3 @y Raty
faft =1 Swam )

Draw sectional Elevation of shorter span with

details of designed of Q No. 7(a) R.F.=1/50 and
show details of reinforcement and other details.

6

S 3. 7 1 MM & HTAR FH T H HE 399
(HaHr TierIem o1& W) aRT%. =1/50 §

I 3W, G4 39 fq@wo ag)
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